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I．Listening Comprehension (20%)

Section A

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question will be asked about what was said. Both the conversation and the question will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C), and D) and decide which is the best answer. Then mark the corresponding letter with a single line through the center. 

Example: You will hear: 
M: Is it possible for you to work late, Miss Grey?


W: Work late? I suppose so, if you really think it’s necessary.


Q: Where do you think this conversation most probably took place?

         You will read: 
A) At an office.


B) In a waiting room.


C) At an airport.


D) In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in the evening. This is most likely to have taken place at an office. Therefore, A) “At the office” is the best answer. You should choose [A] and mark it with a single line through the center.

1.
A. She doesn’t want her boyfriend to give her a car.


B. Her boyfriend has a lot of money.

   C. The man ought to lend some money to her boyfriend.

   D. Her boyfriend was making fun of the man.

2. A. 4:00.    B. 4:22.   C. 4:15.   D. 4:20.

3. A. He is going to change his job.   B. He isn’t doing well with his work.


C. He is doing pretty well now.    D. He doesn’t like his work.

4. 
A. In the city.  B. In the country.  C. Near his company.  D. Near the town.
5.
A. He hasn’t seen it.             



B. He liked it better than Jaws.


C. He thought Star Wars was not as good as Jaws.   
D. He didn’t like it.

6.
A. Typing a proposal.   
B. Writing a proposal.  


C. Posting a proposal.   
D. Checking a proposal.

7. 
A. Follow the doctor’s advice.  
B. Forget to take any pills.  


C. Take five pills.             
D. Take two pills.

8.
A. The woman didn’t hear the man come in.


B. The woman pretended to be deaf when the man came in.


C. The woman didn’t mind the man’s disturbing her.


D. The woman asked the man to get home early next time.

9. 
A. Three times.   B. Two times.  C. Five times.   D. Eight times.

10.
A. 6.   B. 12.   C. 10.   D. 18.

Section B  Compound Dictation (10%)
（注意：听力理解的B节（Section B）为复合式听写（Compound Diction），题目在试卷二上，现在请取出试卷二。）

II. Reading Comprehension (30%)

Passage One
Ever since William Harvey defined an animal’s heart as “the sovereign of everything within them, the sum of their microcosm,” in De Motu Cordis in 1628, the heart has been one of the most widely studied organs of the body ( and fortunately so, given that heart disease is the world’s leading cause of death. 

Each year, around 8 million people die from heart attacks and many millions more suffer from, and eventually succumb to, heart diseases such as congestive heart failure and arrhythmia (心律不齐). Global figures are rising, yet calculations suggest that this number could be slashed by around 50 per cent if smoking were removed from the equation. However, decreases would be offset to some degree as the world’s population ages, diets become more fat-laden and lifestyles more sedentary (久坐的), as all these factors are harmful to a healthy heart.

Although scientific study of the heart began four centuries ago, the past few decades have seen a paradigm (范例) shift in research. We are now able to monitor the process of contraction and relaxation that underlies the gross function of the heart at close quarters by tracking the movement of calcium (钙) and other ions (离子) within myocytes (肌细胞). And genetic information is used in trial heart gene therapy. As with all diseases, understanding the processes involved at the molecular and genetic level is enabling us to make inroads in preventing and treating heart disease. 

11. If there is no one smoking, people suffering from heart diseases can be reduced _________.

A. by about one fourth   B. by about one thirds

C. by about half       
D. to none

12. According to the passage, _________ is harmful to our hearts.

A. drinking coffee      B. long-time sitting

C. living a mobile life   D. not eating regular meals

13. Scientific study of the heart _________.

A. began a few decades ago

B. began before Harvey’s time

C. is different from what it used to be

D. focuses on the ageing problem of the society

14. At the molecular level, researchers study the heart _________.

A. by tracking the movement of calcium and other ions within myocytes

B. by monitoring the process of contraction and relaxation of the heart

C. by doing trial heart gene therapy

D. by observing the heart beat of the subjects

15. Which of the following statements is NOT true?

A. Smoking used to be the only factor contributing to heart diseases.

B. Eating too much fat is not good for your heart.

C. Heart is one of the most widely studied organs of the body.

D. Heart disease has caused many deaths.
Passage Two

Anini holds the singular distinction in India of being the only district capital without an all-weather road providing basic transportation. Now, in what is believed to be the most remote cyber center in all of India, a new state-of-the-art computer center has put Anini on the “information 

superhighway.” 

The facility is one of 487 free community information centers that the Government of India has been installing throughout northeastern India. The US$75 million project, which has wide political support, is part of a plan by the Ministry of Information Technology to bridge the digital divide in isolated corners of this vast nation, which is about a third as large as the United States and has slightly more than a billion people, a population second only to China’s. People in the region hail the computer center as the first step in what they hope will be a permanent road linking them with the outside world.  

Until recently, there was no road at all leading in and out of Anini. The six Pentium computers and accessories provided for the new community information center had to be transported on elephant back. About a year ago, the federal government’s Border Roads Organization opened part of a 228-kilometer (141-mile) road that, when finished, will extend from Anini to the nearest road link, at Roeing. Much as it’s needed, the new unpaved road is only a start. 

16. Which description of Anini is true according to the passage?

A. It is the only district capital in India.   B. It boasts the best computer center in the world.

C. It has the largest population in India.   D. It has very bad transportation conditions.

17. Anini got its new computer center _________.

A. because of its important geographic situation   B. thanks to political support

C. because of its poor conditions               D. to facilitate the national election

18. The new computer center _________.

A. is warmly welcomed by the locals

B. is the only one in northeastern India

C. helps solve the problem of transportation in Anini

D. will be finished soon

19. The computers and accessories _________.

A. were carried to Anini by elephants   B. are second-handed ones

C. were transported to Anini by camel  D. are denoted by the U. S.

20. The 141-mile road _________.

A. has not been finished

B. makes it convenient to transport the computers and accessories

C. will be the first road in Anini

D. is sponsored by the Ministry of Information Technology

Passage Three

It’s very necessary for Canada to set up effective transportation system because of its enormous size with its sparsely populated distribution. It is also very difficult to make transportation construction on the surface of the country due to its harsh long winter and its mountainous terrain. It’s really amazing for this country to set up a transcontinental railroad since last century. Until 1990, the route length was more than 86,880 kilometers. Most of the country’s freight are transported by Canadian National Railway and Canadian Pacific Railway. But nowadays fewer and fewer people travel by train.

Water transportation was very important before railway construction. Although passenger travel by water is less important than before, waterways remain important for cargo transporting. Waterways include lakes, rivers and sea coastlines. One of the most significant water transportation system is St. Lawrence seaway from the Atlantic Ocean to the west of Lake Superior.

Because of the increasing number of automobiles, Canada’s road transportation develops very quickly. In 1991, road length has been more than 849,400 kilometers. Road system is becoming more and more important. Trucks carry nearly half of the total freight transported in Canada. Early in 1962, Canada had Trans-Canada Highway with the length of more than 7.7 kilometers, extending from St. Johns, New Brunswick to Victoria, British Columbia.

With the development of transportation, airplanes became another necessary vehicles since aeroplanes could be the only access to some areas of the far northern region. Canadian transportation system develops very quickly with the increasingly advanced science and technology. The aim of the transportation is to use substitute fuels and to produce more efficient transportation facilities. 

21. Despite its _________, Canada now boasts a transcontinental railroad.

A. sparsely populated areas   B. abundant natural resources

C. large acre of desert       D. harsh long winter

22. Nowadays, the Canadian railway is mainly used to _________.

A. transport freight   B. carry passengers

C. carry tourists       D. transport soldiers

23. Nearly 50% of the total freight transported in Canada is accomplished by _________.

A. trains   B. cars   C. trucks   D. ships

24. Airplanes are important in transportation in Canada _________.

A. because they can fly very high

B. because they can carry larger freight to the destination within shorter time

C. because they are the newest form of transport

D. because they can go to some areas that cannot be reached by other transports

25. The passage is mainly about _________.

A. the history of Canadian transportation

B. the different forms of transport in Canada

C. the condition of transportation in Canada

D. the advancement of Canadian transportation

III．Vocabulary and Structure (15%)

26.
They are the first regulations passed in the country which ___________ Chinese and international laws.

   A. insulate   B. participate   C. incorporate   D. penetrate

27. __________ is the center of our planetary system was a difficult concept to grasp in the Middle Ages.

   A. It is the sun and not the earth   B. Being the sun and not the earth

   C. The sun and not the earth      D. That the sun and not the earth

28. The battle is of great significance when viewed ____________ the progress of the war.

   A. in the standpoint of    B. from the view of

   C. from the opinion of    D. in the perspective of   

29. As far as the style is __________, it leaves very little to be desired.

   A. concerned   B. involved   C. related   D. connected

30. It was difficult to _____ what was said over the loudspeaker in the square.

   A. make out   B. make off   C. make over   D. make up

31. It was __________you that the drowning boy was saved and all was well.

   A. due to   B. thanks to   C. but for   D. owing to

32. Students are not allowed to ___________ the final exam if they have missed one third of the classes.

   A. make   B. sit   C. offer   D. go

33. He swallows his words so much that I can never __________ what he is saying.

   A. deal with   B. make up   C. make out   D. point out

34. The poor man got lung cancer at the age of 60 and since then his health has been __________.

   A. in decline   B. on the decrease   C. on the fall   D. in decrease

35. We hope to spread our ideas ___________ a new series of books.

   A. in memory of   B. for the sake of   C. in place of   D. by means of

36. You need to rewrite this sentence because it is __________; the readers will have difficulty in understanding it.

   A. comprehensive   B. alternative   C. deliberate   D. ambiguous

37. His parents never intended ___________ together with him though they hoped to see him often.

   A. live   B. living   C. to have lived   D. to be living

38. The poetry of Ezra Pound is sometimes difficult to understand because it contains so many __________ references.

   A. obscure   B. acute   C. notable   D. objective

39. It is warm __________ food.

   A. enough to defrost the freezing   B. to defrost enough the freezing

   C. enough to defrost the frozen    D. to enough defrost the frozen

40. The moment my mother came home after a day’s work, she lit the fire and ______ making the soup.

A. set aside   B. set about   C. set off   D. set up

41. While I am on holiday, ring me at my hotel only if there are any _________ messages for me.

   A. urgent   B. hasty   C. early   D. confident

42. The chairperson was very angry when the executive committee members __________ late for the meeting.

   A. turned in   B. turned up   C. turned out   D. turned over

43. These instructions are important, so listen while I __________ them again.

   A. put through   B. go with   C. take on   D. run over

44. I’m interested in a detailed __________ of your trip.

   A. explanation   B. message   C. description   D. statement

45. __________ for more than five to seven minutes, the brain will be subjected to irreversible damage.

   A. Oxygen once deprived of   B. Once deprived of oxygen

   C. Deprived of oxygen once   D. Once oxygen deprived of

46. Not that John doesn’t want to help you, ___________ it’s beyond his power.

   A. in that   B. for that   C. and that   D. but that

47. The __________ of living systems, whether it is direct or indirect, is very useful for devising machines, hence the rapid development of bionics.

   A. imitation   B. perfection   C. duplication   D. reproduction

48. Everybody liked the stranger, but __________ he was a criminal.

   A. of a truth   B. in a matter of fact   C. in reality   D. in the fact

49. On my way home from the cinema that night I heard a loud noise ___________.

   A. at once   B. by accident   C. out of expectation   D. all of a sudden

50. He adapted himself to the changing ___________ of society.

   A. phases   B. time   C. people   D. economy

51. You can’t keep small children still; they are always ___________.

   A. on the run   B. on the go   C. in a hurry   D. in haste

52. Roger cannot __________ all his problems.

   A. cope for   B. cope with   C. cope against   D. cope over

53. The stage was bare ___________ a piano, a bench, and one empty chair.

   A. in addition to   B. only for   C. except for   D. apart from

54. You needn’t speak so loudly, __________?

   A. don’t you   B. do you   C. needn’t you   D. need you

55. Long sentences and difficult sentence patterns in this novel have been __________, but it still keeps much of the charm and flavour of the original.

   A. adopted   B. applied   C. simplified   D. polished

IV. Cloze (10%)

Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A), B), C) and D). You should choose the one that best fits into the passage. Then mark the corresponding letter with a single line through the center.

Faces, like fingerprints, are unique. Did you   56    wonder how it is possible for us to  57  

people? Even a skilled writer probably could not describe all the  58   that make one face different from another. Yet a very young child   59   an animal, such as a pigeon ( can learn to recognize faces. We all   60   this ability for granted.

We also tell people apart   61   how they behave. When we talk about someone’s personality, we mean   62   in which he or she acts. Speaks, thinks, and feels   63   that individual different from others.

Like the human face, human personality is very complex. But describing someone’s personality

 64   words is somewhat easier than   65   his face. If you were asked to describe what a “nice face” looked like, you   66   have a difficult time doing so. But if you were asked to describe a “nice person,” you   67   begin to think about someone who was kind,    68  , friendly, warm, and so forth.

There are many words to describe   69   a person thinks, feels, and acts. Gordon Allport,

  70   U.S. psychologist, found nearly 18,000 English words   71   differences in people’s behavior. And many of us use this information as a   72   for describing a   73  . Hippies, bookworms,   74  , military types (people are described with such   75  .

	56.
	A. sometimes
	B. ever
	C. always
	D. anytime

	57.
	A. spot
	B. locate
	C. know
	D. recognize

	58.
	A. features
	B. characteristics
	C. distinctions
	D. qualities

	59.
	A. or even
	B. and also
	C. and then
	D. and too

	60.
	A. have
	B. use
	C. take
	D. regard

	61.
	A. in
	B. by
	C. from
	D. with

	62.
	A. the manners
	B. the means
	C. the ways
	D. the patterns

	63.
	A. courses
	B. cause
	C. makes
	D. make

	64.
	A. with
	B. by
	C. in
	D. using

	65.
	A. describe
	B. describing
	C. to describe
	D. description of

	66.
	A. will
	B. would
	C. shall
	D. should

	67.
	A. may
	B. can
	C. might
	D. will

	68.
	A. considerate
	B. considerable
	C. considering
	D. concerned

	69.
	A. why
	B. when
	C. how
	D. what

	70.
	A. a
	B. an
	C. the
	D. that

	71.
	A. characterizing
	B. characterize
	C. characterized
	D. to characterize

	72.
	A. base
	B. foundation
	C. point
	D. criterion

	73.
	A. person
	B. personality
	C. man
	D. woman

	74.
	A. politicians
	B. scholars
	C. professionals
	D. conservatives

	75.
	A. nouns
	B. nicknames
	C. jargon
	D. terms


V. Translation (10%)

Directions: Read the following passage and translate the underlined sentences into Chinese.  

（注意：翻译做在试卷二上。）
For three centuries after the Norman conquest, two languages were used side by side in England. (76) Latin and French were the languages of the upper classes, spoken at courts and used in churches 
and schools. Official edicts and documents as well as literary works were written on parchment(羊皮纸) in Latin. (77) However, the common people clung to the Anglo-Saxon which had undergone remarkable changes. (78) The original system of Old English was weakened and a large number of French words had been absorbed.
It is interesting to note that as most of the noblemen were French, so words that are related with enjoyment and pleasure are usually of the French origin whereas words that have to do with labor are usually of Old English origin. (79) Hence, different words for the live animals and for their meat after they are killed. Thus we have bull/beef, calf/veal, sheep/mutton. (80) The live animals looked after by poor English peasants had English names but the meat going to the tables of the French speaking lords had French names. In the 14th century, thousands of words and expressions were borrowed from French and Latin and Greek, and many inflectional forms of the words were dropped and formal grammar simplified.
试卷二

Section B  Compound Dictation (10%)

Directions: In this section, you will hear a passage three times. When the passage is read for the first time, you should listen carefully for its general idea. When the passage is read for the second time, you are required to fill in the blanks numbered from S1 to S7 with the exact words you have just heard. For blanks numbered from S8 to S10 you are required to fill in the missing information. You can either use the exact words you have just heard or write down the main points in your own words. Finally, when the passage is read for the third time, you should check what you have written.

   People over the age of 65 in the U.S.A. are called senior citizens. Life for these people is more different than for (S1)         Americans. Most senior citizens retire, or no (S2)         work full time. Also it is (S3)         for people of this age to (S4)         with their children and grandchildren. (S5)         tend to live in their own houses or (S6)         away from their families.

   For many senior citizens, the years after 65 are not (S7)        . They feel unproductive when they no longer work. In addition, they may feel lonely being away from their families and the contacts they had in their work. Moreover, (S8)                                          
                                                                                .

   Other senior citizens enjoy their lives. They feel free to do things they were not able to do when they were working and raising families. They now have time to enjoy hobbies and sports and travel. Many senior citizens move to retirement communities located in warm climates. (S9)            

                                                                                .

   The number of senior citizens in the U.S. is increasing rapidly because people are living longer than before. (S10)                                                                  
                                                                                .

Their concerns are receiving a wider audience than ever before. The time may come when all Americans will look forward to becoming senior citizens.

V. Translation (10%)
Directions: Read the following passage and translate the underlined sentences into Chinese. 
S76. ____________________________________________________________________________

________________________________________________________________________________

S77. ____________________________________________________________________________

________________________________________________________________________________

S78. ____________________________________________________________________________

________________________________________________________________________________

S79. ____________________________________________________________________________

________________________________________________________________________________

S80. ____________________________________________________________________________

________________________________________________________________________________

VI. Guided Writing (15%)

Directions: For this part you are allowed 30 minutes to write a composition. Your composition may consist of two or three paragraphs and include the following main ideas given in Chinese.

假设你是上海一所著名大学的英语系教授，日前从一位朋友处得知史密斯教授下月将来华访问。史密斯教授专攻美国文学，目前在美国一所知名大学任教。请你写封信，邀请史密斯教授届时光临贵校，为英语系的学生做关于美国现代文学的讲座。
Key to Achievement Test (Integrated Course 4)
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Section A
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Section B: Compound Dictation

   People over the age of 65 in the U.S.A. are called senior citizens. Life for these people is more different than for (S1) younger Americans. Most senior citizens retire, or no (S2) longer work full time. Also it is (S3) unusual for people of this age to (S4) live with their children and grandchildren. (S5) Grandparents tend to live in their own houses or (S6) apartments away from their families.

   For many senior citizens, the years after 65 are not (S7) enjoyable. They feel unproductive when they no longer work. In addition, they may feel lonely being away from their families and the contacts they had in their work. Moreover, (S8) they become more concerned with their health as they grow older. If they live in big cities, they often worry about their safety.

   Other senior citizens enjoy their lives. They feel free to do things they were not able to do when they were working and raising families. They now have time to enjoy hobbies and sports and travel. Many senior citizens move to retirement communities located in warm climates. (S9) Some senior citizens continue to work beyond retirement age. Many find new careers and professional opportunities after they retire.

   The number of senior citizens in the U.S. is increasing rapidly because people are living longer than before. (S10) Because of their larger numbers and more active life styles, senior citizens are gaining social influence in the country, both politically and economically. Their concerns are receiving a wider audience than ever before. The time may come when all Americans will look forward to becoming senior citizens.

II. Reading Comprehension

Passage One: 
11. C  
12. B  
13. C  
14. A  
15. D
Passage Two:   
16. D  
17. B  
18. A  
19. A  
20. A
Passage Three:  21. D  
22. A  
23. C  
24. D  
25. C

III．Vocabulary and Structure 
26. C   27. D   28. D   29. A   30. A   31. B   32. B   33. C   34. A   35. D

36. D   37. B   38. A   39. C   40. B   41. A   42. B   43. D   44. C   45. B

46. D   47. A   48. C   49. D   50. A   51. B   52. B   53. C   54. D   55. C

IV. Cloze


56. B  
57. D  
58. A  
59. A  
60. C  
61. B  
62. C  
63. D  
64. C  
65. B


66. B  
67. C  
68. A  
69. C  
70. A  
71. A  
72. D  
73. B  
74. D  
75. D

V: Translating the underlined sentences into Chinese. 
76. 拉丁语和法语是上流社会的语言，用于法庭、教堂和学校。

77. 不过，普通百姓仍坚持使用已发生很大变化的盎格鲁·萨克逊语言。

78. “古英语”原有的体系被削弱，大量的法语单词被吸收进来。

79. 因此，用来表达活的动物和它们被杀后的肉的单词不尽相同。

80. 由贫苦的英国农民看管的活的动物有英语名字，而说法语的地主们饭桌上摆的动物的肉却用法语名字。

V. Guided Writing
Dear Professor Smith,

I learn from a friend of mine, Mr. David Zhang, that you are to visit China next month. May I take the opportunity to invite you to come to our university and give the students of our English department some lectures on “Modern American Culture”?

Located on the east coast of China, our university enjoys a history of over 80 years and an excellent reputation of higher education in the world. Our English Department has been growing very fast. Now we have over 50 teachers and nearly 200 undergraduates and graduate students.

Many students have read your articles published on several famous journals and are particularly interested in your pioneering views on modern literature. They will greatly appreciate it if they have an honour to listen to your lectures and are given a chance to consult you face to face.

With warmest regards and looking forward to your favorable reply.

                                                          Yours sincerely 

                                                          Huang Chengwei

Tapescript of Listening Comprehension (CET4)

Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question will be asked about what was said. Both the conversation and the question will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C), and D) and decide which is the best answer. Then mark the corresponding letter with a single line through the center. 

Example: You will hear: 
M: Is it possible for you to work late, Miss Grey?


W: Work late? I suppose so, if you really think it’s necessary.


Q: Where do you think this conversation most probably took place?

         You will read: 
A) At an office.


B) In a waiting room.


C) At an airport.


D) In a restaurant.

From the conversation we know that the two were talking about some work they had to finish in the evening. This is most likely to have taken place at an office. Therefore, A) “At the office” is the best answer. You should choose [A] and mark it with a single line through the center.


1.
M: Your boyfriend says he’s going to give you a car for your birthday.



W: Don’t believe him. He must have been pulling your leg when he told you that.



Q: What does the woman mean?


2.
W: Roberta took 22 minutes to dress and didn’t arrive until 4.


M: Fortunately, we didn’t start until 4:15.



Q: When did Roberta arrive?


3.
W: How is George doing at the moment?



M: He’s doing fine. He planned to change his job for a while but finally decided to keep the 



present one.



Q: What can we learn about George in this conversation?


4.
W: If I were you, I’d live in the city instead of commuting to work by train.



M: But the country is so beautiful in the spring and fall.



Q: Where does the man prefer to live?


5.
W: I think Star Wars is a good movie.



M: But Jaws is even better.



Q: What did the man think of Star Wars?


6. 
W: What are we going to do in case of mistake? The proposal has been typed already. It 




looks ready to go.



M: We’ll just have to write in any corrections by hand.



Q: What are the man and the woman most likely doing?


7.
M: Mrs. Hunter, you must take three pills every five hours without fail. And don’t forget to 



finish the bottle.



W: Don’t worry, Doctor. I want to get well as quickly as I can.



Q: What will the woman probably do?


8.
M: Oh dear. I got home very late last night. I hope I didn’t disturb you.



W: No, I didn’t hear a thing.



Q: What can you conclude from this conversation?


9.
W: Stephen, how did your football team do last season?



M: We won three times, lost twice.



Q: How many times did they lose?


10.
W: Good afternoon, sir. What can I do for you?



M: Some travelers are coming for dinner this evening, I want to reserve three tables for four 




and three for two, please.



Q: How many people are coming for dinner?

Section B: Compound Dictation
Directions: In this section, you will hear a passage three times. When the passage is read for the first time, you should listen carefully for its general idea. When the passage is read for the second time, you are required to fill in the blanks numbered from S1 to S7 with the exact words you have just heard. For blanks numbered from S8 to S10 you are required to fill in the missing information. You can either use the exact words you have just heard or write down the main points in your own words. Finally, when the passage is read for the third time, you should check what you have written.

   People over the age of 65 in the U.S.A. are called senior citizens. Life for these people is more different than for (S1) younger Americans. Most senior citizens retire, or no (S2) longer work full time. Also it is (S3) unusual for people of this age to (S4) live with their children and grandchildren. (S5) Grandparents tend to live in their own houses or (S6) apartments away from their families.

   For many senior citizens, the years after 65 are not (S7) enjoyable. They feel unproductive when they no longer work. In addition, they may feel lonely being away from their families and the contacts they had in their work. Moreover, (S8) they become more concerned with their health as they grow older. If they live in big cities, they often worry about their safety.

   Other senior citizens enjoy their lives. They feel free to do things they were not able to do when they were working and raising families. They now have time to enjoy hobbies and sports and travel. Many senior citizens move to retirement communities located in warm climates. (S9) Some senior citizens continue to work beyond retirement age. Many find new careers and professional opportunities after they retire.

   The number of senior citizens in the U.S. is increasing rapidly because people are living longer than before. (S10) Because of their larger numbers and more active life styles, senior citizens are gaining social influence in the country, both politically and economically. Their concerns are receiving a wider audience than ever before. The time may come when all Americans will look forward to becoming senior citizens.

